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I. Vocabulary (10%): 
Choose the word that is closest in meaning to the underlined word in each sentence.
1. Despite his great achievement, Steven still remains ________ and modest.      (A) dominant     (B) humble    (C) optimistic    (D) rebellious
2. "You look great in your new dress," said John to Mary, who blushed at the ________.                                                         (A) compliment    (B) discouragement  (C) enlargement    (D) harassment  

3. Stan ________wanted to go to medical school, but later decided to study English.  (A) artificially   (B) barely   (C) initially  (D) ultimately

4. I’ve noted the most important pieces of information about his speech. I think I’ve got the .____________ of what he said.                                       (A) gist      (B) revolution     (C) toughs      (D) negotiation
5. Since divorce is a social _________ in India, some couples remain married even though they may be miserable.                                         (A) dignity      (B) slide      (C) purpose     (D) stigma
II. Grammar (10%)
Choose the word that best completes the sentence.
6. The company reserves the right _______ this agreement in certain circumstances.
(A) cancel    (B) to be cancelled  (C) to cancel  (D) canceling of

7. It is strange _______ smoking is not permitted in this American restaurant. 
(A) that   (B) what   (C) whose  (D) would

8. Many scientists try to explain _________erupt.
(A) to volcanoes what causing to       (B) what causes volcanoes to         (C) to what causes volcanoes          (D) what to causing volcanoes 

9. _______ saying was so important that I asked everyone to stop talking and listen. (A) Which the woman was             (B) What the woman was               (C) That the woman was               (D) What was the woman

10. _______ the teacher arrives, we will have finished this science project.        (A) By the time    (B) Until     (C) Now that    (D) Since

III. Reading Comprehension (20%)

A: Questions 11-15
Ever since they were discovered by early settlers, kangaroos have fascinated biologists. They are unique animals, considered both comical and exotic. They are found only in Australia, New Zealand and a few surrounding islands.

There are more than fifty species of kangaroos in existence today. The best known and largest species is the red and gray kangaroos, which can stand up to six feet and can weigh nearly 200 pounds. But there are kangaroo breeds that are much smaller, such as the musky rat kangaroo, which is only one foot tall. Kangaroos are very adaptable and can live in almost any climate. They can be found in mountainous regions, deserts, grasslands, even remote islands off the coast of southwestern Australia.

Kangaroos are very well suited to their environment. They have adapted over millions of years to fit into their ecological niche. They have large ears, and relatively small heads. Their front limbs are very small, but their paws are very nimble. Their hind legs are very large and powerful. When they are moving slowly, kangaroos walk on all four limbs, with the front limbs barely touching the ground. But when they feel the need to move quickly, they stand nearly upright, and start hopping on their hind legs. When they begin to hop, kangaroos use their muscular, agile tails to balance themselves, and to help them change direction.

Like all marsupials, kangaroos carry their offspring in a pouch. The mother kangaroo may nurse her young, called a joey, for up to a year. Because the joeys stay in a pouch for so long, kangaroos almost never have more than one baby at a time. They typically raise one litter per year, though environmental conditions sometimes make this impossible. If they survive childhood, kangaroos can live as long as eighteen years in the wild, even longer in captivity.

Except for the smallest species like the musky rat kangaroo, which eats insects and small animals, kangaroos are herbivores, subsisting upon grass and other forest vegetation. Like many other grazing animals, kangaroos have developed multi-chambered stomachs to aid in the breakdown of otherwise indigestible plant material.
11. According to the passage, which of the following is NOT true about kangaroos?

   (A) Kangaroos use their tails for balance.

   (B) Some kangaroos eat insects and small animals.
   (C) They tend to live in the same area in Australia.
   (D) Kangaroos can weigh nearly 200 pounds.
12. When do kangaroos switch from walking on four legs to walking on two legs?

   (A) When they are frightened.

   (B) When they need to move fast.

   (C) When their front limbs are holding something.

   (D) When their front limbs are tired.
13. The following sentence can be added to the first paragraph. Where would it best   fit in the paragraph?  

Insert this sentence
Perhaps because of their existence in such remote locations, kangaroos are regarded with fascination by schoolchildren all over the world.
Paragraph one
1      Ever since they were discovered by early settlers, kangaroos have fascinated biologists. 2      They are unique animals, considered both comical and exotic. 3     They are found only in Australia, New Zealand and a few surrounding islands. 4     
(A) 1

(B) 2

(C) 3

(D) 4
14. Look at the word breeds in paragraph 2. Which of the following words is closest in meaning to breeds?

  (A) joeys

  (B) offspring
  (C) regions
  (D) species
15. Why do mother kangaroos usually have one baby at a time?

   (A) Their babies have to stay in the pouch for up to one year.

   (B) The polluted living environment has affected mother kangaroos’ fertility.

   (C) There is not enough grass and forest vegetation to feed a large population of  kangaroos.

   (D) There are many predators around, and it’s hard for kangaroos to protect their babies.
B. Questions 16-20
Most people do not know that Juliette Gordon Low, the founder of the Girl Scouts of America, was deaf. She began to lose her hearing when she was 17, and became almost totally deaf in her adulthood.
Juliette Gordon was born on October 31, 1860, in Savannah, Georgia. Her family and friends all called her Daisy. When she was 14, she was sent to a school in Virginia that was run by some of Thomas Jefferson's grand-daughters. A few years later, at the age of 17, she transferred to a school in New York.
Juliette married William Mackay Low and they went to England to live. Juliette became interested in the Girl Guides Association there. She observed their meetings and was very impressed because the girls acquired many useful skills. They learned how to cook, knit, tie knots and give first aid. They also learned about the history of the flag. Moreover, they developed important social skills as they learned how to work together. Juliette thought that girls everywhere should have this opportunity, so she decided to organize more troops.
Juliette organized several Girl Guides troops in both England and Scotland. Since she could not do all the work herself, she had to ask other women to help her. Sometimes the women were reluctant to give their time due to family responsibilities. However, Juliette was a very determined woman. When the women refused, she would pretend that she didn't understand what they said. As a result, the women helped her in spite of being busy.
When Juliette came back to America for a visit, she started the first Girl Guides troop in the country in her home town, Savannah. By the time she went back to England six months later, there were six Girl Guide troops in Savannah. At that time, the girls each made their own uniforms.
In 1913, the Girl Guides changed its name to the Girl Scouts. Juliette Low came back to Savannah that same year. She decided that there should be Girl Scout troops all over the United States, so she worked toward that goal. The first national Girl Scout convention was held in Washington, DC, on June 10, 1915.
Juliette died in Savannah on January 17, 1927. Thanks to her, there are now Girl Scouts all over the world. Juliette’s home in Savannah is a national Girl Scout center.
16. "Sometimes the women were reluctant to give their time due to family responsibilities." This sentence means:
   (A) The women were eager to help her start Girl Guides troops.

   (B) The women wanted to help, but had something that they needed to work on.

   (C) The women were in charge of other families.

   (D) The women didn’t want to help her because they were too busy with their families.
17. The main idea of this passage can best be stated as:

   (A) Juliette Low, a deaf woman, used determination and persistence to start Girl Scout troops all over the world. 
   (B) Juliette Low, a deaf woman, was very pushy and always got what she wanted. 
   (C) Juliette Low, a deaf woman, traveled to many different places in her life time but ended up back in Savannah.

   (D) Without Juliette, the Girl Scouts would still only be a British phenomenon.
18. "...Juliette started the first Girl Guides troop in the country in her home town of Savannah. By the time she went back to England six months later, there were six Girl Guide troops in Savannah." From this statement we can assume that:

   (A) Juliette liked the uniforms the Girl Guides wore.

   (B) Other people set up their own troops because they were jealous of Juliette.

   (C) Juliette helped to start all six of these troops.

   (D) The girls in the first troop argued and had to be separated into six different troops.
19. Juliette did things in this order:

   (A) Went to England, married William, watched the Girl Guides meetings, organized her own Girl Guides troops.

   (B) Watched the Girl Guides meetings, went to England, married William, organized her own Girl Guides troops.

   (C) Married William, went to England, organized her own Girl Guides troops, watched the Girl Guides meetings.

   (D) Married William, went to England, watched the Girl Guides meetings, organized her own Girl Guides troops.
20. After reading the passage, we can assume that:

   (A) Juliette had to work because her husband didn’t make enough money.

   (B) Juliette enjoyed being busy and helping others.

   (C) Juliette wanted to be a Girl Guide herself, but she was too old.

   (D) Juliette’s husband didn’t approve of her involvement in this association.
Ⅳ. Translation (10%)

21. 成就與興旺往往不能使慾望滿足，反倒激起人的欲望。

22. 毫無疑問的是許多企業都正嘗試將他們的品牌塑造成一種文化圖騰。
不得使用計算機或任何儀具。








(第1頁，共7頁)

